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English-100

Type of questions & distribution of marks:

Read the text and answer the questions 1, 2, 3 & 4. (It will be taken from English for Today class V
book)
1. Match given words with their meanings/Fill in the blanks. 1x5=05

2. Write True’ or ‘False’ for correct/incorrect statement: 1x6=06
3. Answer short questions. (6 short constructed response questions will be given and students will
have to answer all of them): 2x6=12

4. Short composition (Free writing or answering a set of questions related to text. Students will write at least
five sentences related to the topic. Capital letters, punctuations, spelling and sentence structure will be
marked) 10

Read the text and answer the questions 5, 6, 7 & 8. (It will not be taken from English for Today class
V book but it must be similar difficulty level for grade V students)

5. Fill in the blanks with the given words (C.B) : 1x5=05

6. Write True’ or ‘False’ for correct/incorrect statement: 1x6=06

7. Answer short questions (5 short constructed response questions will be given and students will
have to answer all of them) (C.B) 2x5=10

8. Write a simple personal letters (cues will be given and students will have to write at least six
accordingly) (Competency based). 10

9. Making five WH questions from the given statements (By using Who, What, When, Where, Why,
Which and How) Student will make questions with the underlined word. (Competency based). 2x5=10
10. Short questions (students will answer all questions by understanding short informative text/
instructions/ activities/ suggestions/ directions/ procedures to do any work) (Competency based).
1+2+3=6
11. Short questions/ Fill in the blanks (By using information related to days, months, time, cardinal
and ordinal numbers in tables/ columns or words for figures, students will answer short questions/ fill
in the gaps.) (Competency based). 05



12. Rearrange words in the correct order to make meaningful sentences. (Competency based).

2x5=10

13. Form Completion (Student will complete a form by using given information) (Competency

based).

1% Semester Exam:
1. Question No (1 to 4):
2. Question No (5to 8)
3. Question No 09

4. Question No 10
5. Question No 11

6. Question No 12

7. Question No 13

05
Total=100

Seen : Unit No 1 to 12.

Unseen: Model Questions- 1 to 10.
Part 1 (Lesson 35) and Model
Questions- 1 to 10.

Part 3 (Lesson 1, SI. No 1 to 10).
Part 3 (Lesson 2, SI. NO 1to 10) &
Follow model questions- 1 to 10.
Part 1 (Lesson 11) & Follow model
questions- 1 to 10.

Part 3 (Lesson 4, SI. No 1to 9)

N.B: Follow part 3, Lesson 6 (Letter writing) for question no 8.
Grammar Focus: Unit 5 to 8, 23, 24, 27, 29, 30, 32, 33 & 37.

2" Semester Exam:
1. Question No (1 to 4):
2. Question No (5to 8)
3. Question No 09

4. Question No 10
5. Question No 11

6. Question No 12

7. Question No 13

Seen : Unit No 13 to 25.

Unseen: Model Questions- 11 to 20.
Part 1 (Lesson 35) and Model
Questions- 11 to 20.

Part 3 (Lesson 1, SI. No 11 to 20).
Part 3 (Lesson 2, SI. NO 11 to 20) &
Follow model questions- 11 to 20.
Part 1 (Lesson 11) & Follow model
questions- 11 to 20.

Part 3 (Lesson 4, SI. No 10 to 18)

N.B: Follow part 3, Lesson 6 (Letter writing) for question no 8.
Grammar Focus: Unit 13 to 17, 24, 27, 29, 30, 32, 34 & 37.

Final Model Test: Revision of 1% & 2" exam.
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